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And if the one who stoned is not stoned, etc. — BPo1 R BP0 TN

OVERVIEW

X795 72 explained that the reason if o271 7V testified that someone is a w173 13,
the 2»»1r 0°7¥ do not become a w173 72 because of the following 1'p. If a 173
marries a 7w, so he is WA 9911 and nevertheless the 3719 does not become 7117,
so these o m1r 0>7v who were not actually %nn this alleged w13 12 (for they were
an:1), should certainly not become 2711 (a 7wiM3 12). X121 refuted X795 72 saying
that if you follow the logic of this type of a 1", you negated the whole rule of a1,
for we can always make the following 1"p that ,7p0 X1 21p0% X277 ,201 1°R 21057 1)
%P0 K7W 17 K. There is a dispute between *"w9 and M»o1n how to explain this 1"p
of X1°21.

= 2192913 PRT 9397 X9 190D INAT XD P41 712903 PN 1990YS 090990 ¥
>""w9 explained the 1"p of X1°27 as follows; when they Kkilled the accused based on
the testimony of the a1 07y (921077 72Y), the rule is that the 2T 079 are not
killed (5p01 12°R), the rule should be that if the 0°7y merely came to Kill him ( X277

71p0%), but did not kill him (%P0 89), certainly the 1217 2°7v should not be killed
(5pD ROW PTIR).

MooIn asks on *"wo:
= PA913 PN NN (3,0 91 JAPY 1ARTI Y 1YY HNT RTN KO YD)

And this explanation is very difficult; firstly, X1°27 should have said as the X713

states later: ‘if they Kkilled the accused, the o°»m7 0°7v are not Killed; why change
the syntax to 121 P01 11K 221077 7n.

mooIn has an additional question on >"'w7:

U 7"72 "0 states WX N7 AT PR AT (2,7) TPI92 JPINRTI PAITI PR NI O"ARY NI AW TY W KW 20TV
WY WK X7 09T
% The mwn (and the &713) later on 2,77 teach that 7277 is carried out only if the alleged murderer was not killed, but if
7" already killed him the 0>7¥ are not killed. We derive it from the 109 of YOR? MWL onr MWK 2 apwn. w">y. [It
should be noted that we do not find in the X113 the (popular) T1°% of 7wy WRd 8?1 ont K. It is however mentioned
by "121 mvoim *"'wn.]
? If we follow this type of 1"p we can never fulfill the ant qwx> 12 anvww, for we will always argue, if their testimony
was acted upon and the accused was punished we do not punish the 77 2>7¥, so how can we punish them if the
accused was not yet punished.
"y himself here cites this expression (see footnote # 1). Why would the X713 change from 1°3771 1R 297 to 9pI00
Sp01 1R (if the X773 meant PXI7 1K 117)? And especially why limit it to 72°P0 when you can say 117 which refers
to all 7"2 mnn.
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And furthermore, what is X1°27 asking 79 12; here by %10 it is different from
219°m, for the 7790 made it explicitly clear that one who comes to give 79999 to
the accused, but the accused was not stoned, that the 0’7V are stoned; the 770

teaches this to us -
- WYY TYUNRI K DNT YN 23N979 Y903 190X YPIDNT 10INT 199 NP NYDNa

In that very same »109 from where we see that if the accused was stoned, the

7Y are not stoned, as it is written, ‘as he plotted’; but not as he did; this is

concerning 3>, where there is no basis for the 1" since it contradicts the 109 -
= 99950 13957 DIYHT 9N DP Y Y HINT Y NN ODIYH HaN

However, generally (where there is no special directive) I can say to you that the
previous 1"'p regarding 971 is a proper one -

—"nmtn YONNOW AN 9373 TOUT 01PN DIYA NP 9 NY NI4T
For the 770 never revealed to us anywhere that regarding %19 11 the concept of

mn is applicable; therefore once we know that 97°11 X% 99mn we can deduce that 1°X 9912 X277
991 XKW 77T,

mpoIn asks a final question:
= 929N Y7 13972y NY INTY ONNT NINY 1YY MINT NYUP I

And an additional difficulty; for the X3 should have answered that there

(regarding 121 9?1071 1) we certainly cannot make such aY"'p -
- DAY AURD NY NNIWUN K9 935 PRt 0319 NN NYLA 15 ONT OIUN

For if so (that we will make this 1"), you have nullified the law of a2y a7y

and the ruling of 2%t "wK> can never happen -
= 92N I 1Ay oY 1Y 91’)3)31? 01y NN NV NIT HIYY YaN

> We know for certain that regarding the death penalty the laws of anm1 apply, for the 7m0 writes regarding the

punishment of P17 27y (in X3 ,v° [2°09Ww] 2°127) that "3 woH12 W1 Ty DWIN R,

® We cannot utilize the 1"p of 21 9p01 1K 907, since the 771N clearly teaches us that the 17 of ont WRS is (as it is

written) only ont WX, but not 7wy TWXD. We cannot argue with logic against a clear directive from the 7.

7 There is no P10 that teaches that for wanting to make someone a %%n the laws of st apply (as opposed to 7"

[see footnote # 5.]). Therefore since we know that a %%mai 172 is not 991, we can assume that 199°17 X5w 077y are

certainly not 2. [Alternately; in the V"p of 2°3371 1K 13177 both the %p and the 71 are derived from the laws of

1. We know that 0°3171 1R 77 because it says [Awy TwRD X?1] oar wKa, but those same words teach us that X?

13771 0. However by 212°11 the rule of 521mn 1°R %2mni is not a law in 7n17, but a law that teaches that being 2%nn

has no consequence of being 7211 (and since we do not know that 7n1:7 applies by 712°), therefore certainly wanting

to be Y%nn should not cause 1%°1.]

¥ Whenever 7"a would wish to punish the 2"m 07y we can argue that if the punishment to the accused was already

carried out, the 77 07y are not punished, so if the accused was not yet punished, the 1" 0°7v should certainly

not be punished.

? All we are saying is that by 91211 the law of ot 7w does not apply, for 2121 is a different case, as we see that the
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However previously (the 1"'p of X709 972 regarding 91%°r) where you are not
nullifying the law of 2217, it is proper to make such a y''p.

mooin offers his explanation:
= 9PN IPIDN NMY NINRP 29NT 0N 1229 YD Y

Therefore the n''1 explained that this is the meaning of ®po1 1198 Y1057 7121 -
- 95503 X9Y 99902 P17 NN DIAN 173N YPIDY DTN WP

It means, a person who stones his friend with stones, and the victim died, the

murderer is punished by the sword (3777), but not by stoning, so -
=07 DY HPOI XD NDYPD ANNNY IV YIN PTIVNIY DTY HPDI XD IPDY Nan
The one who was supposed to be stoned, meaning where 717 297y testified
that this person deserves 79°75,'" but he was not yet stoned by their testimony -
- 2135505 XYY 197 999N
Is it not certain that we should not stone them?!" -
- DT AUNRD DIOPUMT NP SIPIND NIONT 991235 nYva XY NIYWN)
And now you have not nullified completely the rule of ont 7wX>, for we can
establish the 10D of 2% WK 1> ANy, in a case -
= NPV ININY 1T %2 MNM INY DINNY POV DY
Where the 17211 07V are testifying that the accused is liable for other 7''s2 nins»

which are not 7930, We could have said that 1"p -
- 91 9 IR 1372Y RY 297 1929N)

99 is not Y. It is not an encompassing law in 717 but only a limited law in 917°m.
' The punishment for murder (no matter how the victim was murdered [even if it was through 779°p0]) is 70 (or 3777)
by the sword.
' For instance they testified that he was naw or» which is punishable by 72p0.
"2 [Others amend this to read 19p0° X>w.] We should rather punish these a1 27y with 90, but not with 7290 (see
X"2v™). If in a case where someone actually killed by 72°p0, nevertheless he is (not punished by 72°p0, but rather he
is) punished by 70, so these o°7v who merely attempted (through their testimony) to kill someone by 17°po, should
certainly not receive 72°p0 (but rather 5»0).
> We understand now why X127 did not say 13773 °X 137 OX ) (the first question on "w'0), because we are
discussing specifically 17°po. The second question on *"w1 does not apply to the n"- because the 1"p is not from a
case of 717 (where the X1p is X>772 *23), but rather from a case of actual killing (similar to the 1"p of X759 72 of actual
912°17). MOOIN continues to explain why the third question is also not difficult according to n"2 w7,
' The st nmn will be partially nullified (if we assume this 1"p) regarding 2P0 (etc.), but it will not be nullified
regarding 2771 (see X"w1an). If the o7y testify that someone is deserving 3771 (the accused killed someone by a sword,
which is punishable by 3777), the 0>7v (if they are ami) will also receive 377, for there is no 1"p to oppose it. See 71w
117 that we will also implement 271 WX by pan as well (not just by x777) if we assume that 377 is pann wan. See
‘Thinking it over’ # 2.
'S We know that we do not make such a 1"p (to limit the ot WRD to a case of (1) 317 and exclude it by 79°pD
[(Fow) see ‘Thinking it over’# 3], for we do not find anywhere that we should limit the ont 7wX> except in the
cases which our 73wn mentions (by w173 12 and N123).
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And nevertheless we do not make such a '|"|7,16 but rather we implement the on7 WX
in any event (even by 19°p0) -

NI AN AN 957 19973y NYT 9999 19 D Vran4
So how can X75 72 state previously that we do make such a v''p?!

SUMMARY

According to >"wA the 1"p of 271077 71 is the same as 131 0°3773 11°X A7, According
to mdoIn the 1"'p is from a person who actually stoned someone to death, but
nevertheless he receives 2171 (not 72°pP0) so the 0°7¥ who merely want to punish the
accused with 719°p0 should certainly not receive 72°p0.

THINKING IT OVER
1. What is the difference between the second question of N1BOIN ( IRW 79 X TIN
191 X371), and the third question of MO (N121 YN 27 AwWp 73)?

2. The n"1 writes that according to his explanation, the " of k1’27 is nn) nNHv1a &Y'
3> (natn.'® However the X3 clearly states that X1°27 prefaced his 1"p by saying,
"Mt 0Y7Y 770 NP 3K

3. How could X121 have thought to make a 1"p to exclude 75w from ont wKd,"”
since we need a P09 of YMINKRY? X721 ,1°0X? MWy to exclude 175 N2 »n17 from 797w, it
is evident that there is 9™ for Prmyr o¥7v21%°

'® The basis of the 1"p of 875 72 (and x27) is that planning to do something wrong cannot be worse than actually
doing something wrong. However since ont wR2 applies in all cases (in contradiction to the logic of this 1"p), this
proves that the 770 teaches us regarding o°»™ 7 2>7¥ that it is indeed the opposite, where planning to do something
wrong is punishable more than actually doing it.
17 The n"27 miax7 amends this to read 2°¥% 18P 1 *3m (instead of 2°¥% 1 9nxp *5177). The X"win amends it to read
A"771921"p 17297 2°¥H narp °2°m. The translation here follows the 807 of the X"wnin.
' See footnote # 14.
¥ See footnote # 15.
20 See TN WO TN # 20-25.
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